A is directly proportional to B?,
when 4 =45, B = 3. A=kxB? 45=kx3% so k=5 A = 5B> A=5x7%=245
Find A when B =7
2]
(a) y is directly proportional 210 = e =2 DO%D
to x%, and y = 270 when x = 3. %= \<DC,2 e \é": SOCI'.Z \6
Find y when x =5 K’ E)O &"-’50
(b) N is directly proportional 1280 = K ¢ < 3 N=20x 33
to L3, when N = 1280, L = 4. N = k\_s N=2.0L3 -
Find N when L =3 k=20 N=B4o
(c) Ais directly proportional SO = Kk ,rc_{ A= 30 ES
to VB and when 4 =90, B = 9. A‘-‘ k. B A‘-‘ )
Find A4 when B = 25 r Kis 50 J—B R=150

(d) A is directly proportional to
B%? and when A =8, B = 4.
Find A when B =0.5
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=05
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A = 0.9x0.5%

A= 0125

(e) h is directly proportional to
Vvw and h = 15 when w = 4.
Find h when w = 64

h= kJW

o o P
fe=ii 5
= T.5dwW

e LGP
= CO

(f) A is directly proportional to
v3and when 4 = 400, V = 2.
Find V when A = 6250

A=kV?>
400 = kx2°
= 8
NS
6250 =50\
V=95

(g) y is directly proportional to
Vx. When x =8, y = 64.
‘Find x wheny = 128

= \<3J-_—DC.
0 6u = k38
k=28
= 30 4[¢




